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Sugar beets Planted area

2 I i & Jb g EH fiH W 5 v F v 7
| gEFRE | v = 7 | @ i oA g v = 7] & %ﬁ
% ha % ha
2 = 100.0 56,800 it & & 100.0 56,800
1] & & & 100.0 56,800 1] + B 43.7 24,800
2l FH—v 2 40.1 22,800
31 & N 6.3 3,580
HoiRIE & 4 BB i 2.6 1,500
o 5| % & 2.1 1,200
9.9%) \ \ 6| A LS 2.0 1,160
Z 0 71 =z N 1.1 638
8| & i 0.6 341
0 9 ¢l B 0.5 288
6.3% 43.7% 10| Z i 0.4 218
o + B 11| E = 0.3 154
12| R = 0.2 118
13| A = 0.1 45

40.1%

FHR—=V7
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IREEERE: 5 | & i IR | @ *

ha ha

1l & B @ FR=v 7 3,410 31 8 F & FR=V 7 430
2l M & @ FHR=v7 3,180 2( & B H FHR=v 7 422
3] & LK + B 3,060 33| &£ F & BB I 417
a4 5 E + f 2,960 34 8 M = H % & 404
5| Kk = H FR=v 7 2,830 3B FERFEH + ) 351
6| & B A FHR—V Y 2,810 6l F OE B BB I 349
7 N F K OHET FR=v 7 2,790 37 E B =] i 294
8l F E m + B 2,760 38| ®» F E M Eill i 288
9 = W® m FR=v 7 2,350 39| A E OH OET BB I 264
100 & 7 @ + f 2,230 40| =B E W A 7 262
111 & B FR=v 7 2,110 41 B F &8 & % & 228
12 £ & H + f 2,090 2l K B & + f 220
13 & B & + f 1,880 43 = ' EH FHR=v 7 217
141 & R H + % 1,510 44 & W HT i I 210
15| & K H + f 1,280 45 m R E % & 202
16| A& 3 H + f 1,180 46| B = N % & 197
171 &+ A A & + f 1,110 a7f B (= b bl 194
18] B &8 + f 1,080 a8 #H B + f 182
19| = B A7 + ) 1,060 9 5 & # i il 159
201 B & + B 930 50 5 i + il 152
21 #= B H FR=v 7 796 51f & R R M b bl 150
221 A F R oET FHR—V Y 764 52| BMEREHE + il 146
23] £ A W + ) 729 53| #& i) & = 138
24 £ £+ 1R HT + B 705 54 HE R + ) 136
25 F m ™ e i 678 55| & Bl ™ FR=V 7 135
260 & tH M + f 569 56 = B H &7 ] 134
271 K ®om + f 546 57 5T B @ e = 131
2 ERHB® i I 517 58| E R B HT i b 117
29 B FH m + B 489 59| B 1% B HT % = 104
30| &£ = B fr FHR=v7 431 60 ® 1R T b bl 101
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Sugar beets Production
£ B i & Jt g E il
Bh | #E B S | s oz 7 | N o# B8
%
2 = 100.0 3,912,000
1] & & & 100.0 3,912,000
Ml RIEI S
9.3%
Z D
—
0.1% D 43.9%
i 100% 970
+ 5
40.7%
FiR—=V7
i 0K > F
IIEEEERE: BERE
11 4 B FER=V7 228,500
20 B £ W Fik—v 7 228,100
3| ® LW + i 225,000
4 F T EH + % 213,700
5[ /i Kk HT FER=V7 211,500
6| K = Hr FER=V7 205,300
71 & B om FER=V7 203,900
8| F E AT + i 198,800
9l #E 3 HT + i 160,400
10 = % H#r FER=V7 159,500
11| & 2B fr FER=V7 144,900
12 £ m® & + % 137,900
13 & 3 # + i 136,900
14 @ ® EH + B 100,600
151 & A A + i 86,800
16| %= @ Hy + n 77,700
17 & Kx HT + % 77,400
18 & 3 H + % 75,200
19 B &8 + i 66,400
20 st M@ HT + i 65,500
21| =2 3 HT FER=V7 52,500
22| @ F KT AT FER=V7 50,800
23] F m W A 53 47,500
24 £ B W + n 43,900
25| Lt + 1R Ay + i 43,300
26| & tE M + i 39,900
2711 K # Hr + i 33,600
2 ERHB® + n 31,500
29 B &F AT + i 30,200
300 & B AT FER=V7 27,700
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M & 5 > * > 7
NEhz | e 5| v = 7| wm o =
%

it & B 100.0 3,912,000
1l + B 43.9 1,717,000
2| Ak —v o 40.7 1,592,000
31 E N 6.1 238,800
4 pB I 2.3 89,300
5| & 5 2.1 81,900
6| #® = 1.9 75,700
7l oz £ 1.2 47,700
8l @ WL 0.5 19,000
9| 4 3 0.5 18,800
10| = # 0.4 14,000
11| & = 0.2 8,300
12| R = 0.2 7,130
13| A = 0.1 2,580

> (i~606L)

IR B | o om B
31| &£ 2 M & FHR=v 7 27,200
32| B F & FR—V Y 25,100
33| & & = B % = 24,500
4l & ¥ =] i 24,400
35| FEREEH + I 22,600
6| O E W iz} I 21,500
37 B F B M £l i 18,800
B B OE W A 7 18,400
9| E B M iz} I 16,500
39| R E O ET iz} I 16,500
41 B F &8 & % & 15,200
421 & W HT + I 14,500
43( B\ (= ¥ # 14,200
4 B R N % & 13,800
/Y TN == + f 13,200
46| =& B AT FR—V Y 13,000
47 ® & H % & 11,800
48| & R R W b bl 11,400
49 8 NIl ™ + n 11,100
50| #H 1§ H + B 9,750
51 5T B @ e = 9,480
52| HEREMH + I 9,370
53] ® R H b pl 8,350
54 # Bl W FHR=v 7 8,310
55 & & i b 7,940
56| = Bl H B ] 7,880
57| BER B + I 7,860
58| E SR EB HT i i 7,580
59| & iy & = 7,540
60 &% T ™ + I 6,850
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61| = X 5 By *® & 6,550
62 & Lt H FR=V7 5,710
63| & A M % gl 5,540
64 © » b AT LE} i 5,500
65 = 3 M A L5} 5,070
66 = M % H £ M 4,690
67( & @1 M £ # 4,380
68 %= R H £ M 3,730
69| 1 & M £+ N 3,080
01 B & H = pSI| 2,280
A B = pSI| 2,130
2 % owm W iR 2,050
3 & F H LE} & 1,800
T4 o o H] i ik 1,630
75| # M HT % & 1,530
6 ®E )W % gl 1,520
7 X L H = P 1,130
8 = & 2 #® & 956
] I = S A 53 873
| M ® B # & 644
sl % # m  # & 611
8 /A E M & = 453
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Sugar beets Yield per 10 a

4 [® i & Jb i o fif W o 5 v F
Bh | % E B £ | I B e | e i | I g
kg kg
& Ex| 6,890 it & & 6,890
1l & # & 6,890 1| = 4 7,480
2l & 17 7,040
3] Ak—v s 7,000
4+ B 6,920
Hp1R D102 72 ) IR o k£ " 6,670
(ka) 6| 4l % 6,550
8,000 , 7| =2 ] 6,410
8| # & 6,320
9 ® = 6,060
10| g8 IR 5,950
11| A = 5,730
4,000 12| @ il 5,570
13| = 5,390
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IIEEEERE: B 2 IR B | W 2

k k
1] = % z an 8,270g 31| & W H + I 6,920g
2 & A + f 7,800 32 PERFEH + n 6,870
3] R B8 W b bl 7,780 3] & B M E 7 6,850
al o) @ b pil 7,630 341 ) B A B ] 6,840
5| A & m b pil 7,590 3B & L+ EH FR—V Y 6,830
5| /v EF Kk HT FHR—V Y 7,590 36| = )R H E 7 6,780
N & ROR® b bl 7,580 379 & B @ FHR=v7 6,710
8| W M % m + I 7,540 38| B F #H H % = 6,690
9| % B H e 7 7,450 39| H R E + B 6,680
0] & F m + I 7,420 40 @l F A ET FR—V Y 6,650
11 & L& @ + f 7,360 41 #F B HT FHR=v 7 6,600
12| %= B + n 7,350 421 + i} HT + f 6,590
13| @B = 7 b pil 7,340 431 B B Hr FR—V Y 6,570
141 8 I @ i I 7,320 A4 B F /B T | B 6,550
14 & @1 H &7 3] 7,320 45| & SR EB HT @ b 6,490
6] & A & + f 7,300 46| F A1 HT % & 6,440
171 & 2B FR=v 7 7,270 47 = R EHE + n 6,430
18| kx Z=  Hr FHR—V Y 7,250 48] 1 E Hr + I 6,410
19 5T B @ b = 7,240 49 & B HT + B 6,380
200 & ® m + B 7,230 50| & 2 M OET FR—V Y 6,310
21 % M W b pil 7,220 51| & % B H % = 6,300
21 F OE m + B 7,220 52| A R B ET iz} i 6,270
23] & A m + i 7,200 53] B B H + B 6,180
24 18 £ W FHR—V Y 7,170 53] B & M + B 6,180
25 = F om + I 7,050 5| R E W iz} I 6,160
25| 8 @ H + B 7,050 55| K B H + B 6,160
271 + | W e i 7,010 57| # Bl FiR—V Y 6,150
271 & B\ m + B 7,010 58| Lt & 1R Hy + B 6,130
29| B OE W e i 7,000 59 B RHB M + I 6,090
3 B ® M % = 6,990 60| {8 %1 = Hy % = 6,060
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I | R A & i g | w =
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60| o= = BT AR ES 6,060
62 Bk H + s 6,050
63 + 5 @ + I 6,020
64 # £ H #® & 6,000
64| L~ RE Hr + i3 6,000
66 A H iy pac) gl 5,980
66| = ®& Hr FHE—=v7 5,980
68 H 5 Hr H =) 5,960
69| &= 3B M B 3] 5,900
70 oo E % & 5,880
nl = B o®m ® P 5,870
12 - 1) iz} & 5,850
73 B B f7 FHR—=v7 5,830
74 T oh b H iz} & 5,820
75 e B m Jil=] & 5,730
76 E oL | pc} 3l 5,660
17 E E # il = 5,610
78 H ow o®m g iR 5,550
79 VSRR ) =) ¥ 5,500
79 = & o §y #*® & 5,500
81 * iy E =} 5,480
82 EERBE + U 5,400
83| #m 11/ E + i3 5,360
84 5 & H o i 4,990
85 v 7= A iy i th 4,470
86 AN FE T E B 4,310
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